

845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimate By	George Severe
	george@defendersupply.com
	(903) 564-5641



Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Georgetown, TX 78626
512-943-1407

<b>Customer Contact</b>	Christopher T. Watts		
<b>Customer Phone</b>	512-943-1407		
Customer E-mail	cwatts@wilco.org		
Estimate #	28940		

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
2020 Chevrolet Tahoe 9C1 RWD Police Pursuit Vehicle with EcoTec3 5.3-liter, Dual Batteries, Heavy Duty Locking Differential, OnStar with Bluetooth Connectivity, Vinyl Rear Seat & Front Recovery Tow Hooks. (No Spotlight)		1	30,644.00	30,644.00
(Purchased Through Holiday Chevrolet on the Tarrant County Cooperative Contract # 2019-014).				
2 - Slick Top Jail Units				
GBA - Color of Vehicle - Black 5T5 - Rear Seat V76 - Recovery Hooks				
Vin #'s				
Vehicle is Purchased Through Holiday Chevrolet (Johnson – Grayson Automotive) - Make Payment to Holiday Chevrolet				
Customer PO #				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimate By	George Severe
	george@defendersupply.com
	(903) 564-5641



Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Georgetown, TX 78626
512-943-1407

<b>Customer Contact</b>	Christopher T. Watts	
<b>Customer Phone</b>	512-943-1407	
Customer E-mail	cwatts@wilco.org	
Estimate #	28940	

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Vehicle titles should be in the name & address of:				
Williamson County Attn: Hillary McCoy				
710 S. Main St., Suite 301				
Georgetown, Texas 78626				
For Payment Email Invoice only to:				
SO-AP@wilco.org				
Williamson County				
Attn: Peggy Braun				
508 S. Rock St.				
Georgetown, TX 78626				
512-943-1100				
Per Micah on 06/18/19				
T of Milean on 60/10/15				
Ship paperwork to:				
Kevin Teller - Fleet Director c/o Williamson Co TX SO				
3151 SE Inner Loop-Suite B				
Georgetown, TX 78626				
512-943-3368				
Williamson Co TX SO - WO # - Work Order				
Williamson CO 1X CO - WO # - WORK Older				
Tech Note: The Lighting Program was supplied to Defender Supply by				
Marc Courville @ Federal Signal & Approved by Williamson County -				
This program is the only Program that can be used & must be used by				
all techs on all units. Light Sequence is Red/Red/Blue/Blue - Unsynced				
No Paint or Graphics on these Units.				
Emergency Equipment is Purchased Through Defender Supply using				
The Tarrant County Cooperative Contract # 2019-181				
Extra Ignition Key, Tahoe		2	45.00	90.00
Key FOB, 2020 Chevrolet Tahoe RWD 9C1		2	55.00	110.00
Unity Driver Side Halogen Spotlight, Spotlight Shaft, Handle &		1	260.00	260.00
Mounting Bracket for a 2015+ Tahoe (LED Replacement Bulb Sold Separately).				
Copulation 1/2.				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimate By	George Severe
	george@defendersupply.com
	(903) 564-5641



Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Georgetown, TX 78626
512-943-1407

<b>Customer Contact</b>	Christopher T. Watts	
<b>Customer Phone</b>	512-943-1407	
Customer E-mail	cwatts@wilco.org	
Estimate #	28940	

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Unity passenger side halogen spotlight, shaft, handle and mount for a 2015+ Tahoe (LED replacement bulb sold separately)		1	523.00	523.00
Federal Signal PAR46 6-inch Unity LED Spot Lamp Replacement Blub		2	171.255	342.51
Federal Signal Spectralux ILS Low Profile Off-Axis Style Interior Mount LED Warning System with Red/White LED Reflectors Driver Side and Blue/White LED Reflectors Passenger Side for the 2015 – 2020 Chevrolet Tahoe 9C1 & SSV			899.95	899.95
Federal Signal Pathfinder siren controller w/ remote head		1	770.00	770.00
Federal Signal 25 foot OBDII interface cable		1	120.00	120.00
Federal Signal 24 Channel Expansion Module for Pathfinder Siren/Light Controller		1	159.95	159.95
Federal Signal DynaMax 100W Speaker		1	99.00	99.00
Federal Signal ES100 Speaker Bracket, Universal Bail		1	15.00	15.00
Federal Signal Pair of Rumbler Woofers		1	292.50	292.50
Federal Signal Rumbler Mounting Brackets for a 2015+ Chevrolet Tahoe 9C1		1	27.50	27.50
Federal Signal Headlight/Taillight Flasher for 2015+ Chevrolet Tahoe 9C1		1	80.00	80.00
Federal Signal PBX Series Push Bumper for 2015+ Chevy Tahoe 9C1		1	370.55	370.55
Federal Signal - PBX Series Push Bumper Wing Wrap for a 2015+ Chevrolet Tahoe 9C1		1	189.95	189.95
Federal Signal - PBX Series Push Bumper Wing Wrap for a 2015+ Chevrolet Tahoe 9C1		1	189.95	189.95
Federal Signal - PBX Series Push Bumper Four-Light top-channel for Chevy Tahoe 9C1 & Ford F-150 bumpers, use with MPS600U or MPS620U lights		1	27.33	27.33
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White - Mounted on Top Rail of Push Bumper & White Lights to Function as Alley Lights too.		2	90.015	180.03
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted on Top Rail of Push Bumper & White Lights to Function as Alley Lights too.		2	90.015	180.03
Federal Signal - Dual Color and with 6 LEDs Corner Lights with In-Line Flasher in Red/Blue - Mounted on Front Corners of Front Bumper - See Past Build Pictures on WO # 18221		2	58.75	117.50

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimata	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Georgetown, TX 78626
512-943-1407

<b>Customer Contact</b>	Christopher T. Watts		
<b>Customer Phone</b>	512-943-1407		
Customer E-mail	cwatts@wilco.org		
Estimate #	28940		

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Federal Signal Micropulse Ultra 24 LED lighthead Dual Color Surface Mount Light in Red/Blue - Mounted on Each Side of the Rear License Plate to Body of Vehicle - Vertical - Up & Down		2	106.185	212.37
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Red/White - Mounted on Running Boards (Four per Side - Front to Back is RW/BW/RW/BW) & White Lights to Function as Alley Lights when Activated		4	90.0175	360.07
Federal Signal Micropulse 620 Ultra Surface Mount - 12LED Lighthead Dual Color Blue/White - Mounted on Running Boards (Four per Side - Front to Back is RW/BW/RW/BW) & White Lights to Function as Alley Lights when Activate		4	90.0175	360.07
Federal Signal Kit of four 5-degree rubber Mounting Wedges for use with MPS600U lights		2	17.95	35.90
Federal Signal XStream Interior Mount Warning Light, Dual Head model with wire lead, Tri-Color-Blue/Red/White - Mounted in Rear Side Glass – Programmed to do White Alley Lights when Activated		2	203.50	407.00
Federal Signal MicroPulse Ultra 620, Dual Color Surface Mount LED Lights in Red/Blue with Clear Lens, Intended to be Flashed with the Pathfinder Siren Controller & has Dimming Capability - Mounted on Bottom of Liftgate		2	84.02	168.04
Jotto Space Creator Partition for a 2015+ Chevrolet Tahoe 9C1		1	551.00	551.00
Jotto Tahoe 15+ HSEP - 2P (VP9 BDRH Only)		1	80.00	80.00
Setina Dual T-RAIL Style Mount 2, Universal XL - Weapon Rack with Handcuff Key Compatible Override with Maximum Adjustability and Versatility - Mounted on Prisoner Partition		1	325.00	325.00
Pro-Gard Charcoal Grey ABS Standard Straight Back Transport Seat with Wire Mesh Screen and Outboard Seat Belts for 2015+ Chevrolet Tahoe		1	1,124.00	1,124.00
Go Industries Window Barriers for Chevy Tahoe 2015+ Tech: Please Disable Rear Door Handles		1	161.00	161.00
Federal Signal 3" Round 6 LED Compartment / Dome Light that is Switchable between Red or White - (1) One Mounted over Rear Driver Side Seat with On/Off Switch on "C" Pillar & (1) One mounted over Passenger Rear Seat with On/Off Switch on "C" Pillar.		2	45.00	90.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimata	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO Jail	
Commander Christopher Watts	
508 S. Rock Street	
Georgetown, TX 78626	
512-943-1407	

<b>Customer Contact</b>	Christopher T. Watts		
<b>Customer Phone</b>	512-943-1407		
Customer E-mail	cwatts@wilco.org		
Estimate #	28940		

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Havis Console, 2015 Chevrolet Tahoe PPV		1	395.78	395.78
Havis Cup Holder		1	28.57	28.57
Havis Arm Rest - Side Mount		1	48.35	48.35
Havis 8.5" Heavy Duty Telescoping Pole with Side Mount & Short Handle		1	118.44	118.44
Havis 11" Slide Out Locking Swing Arm with Low Profile Motion Device Adapter		1	220.68	220.68
Havis Docking Station with Dual Pass-Through Antenna connection for Panasonic Toughbook 33, 2-in-1 Laptop with Power Supply		1	956.54	956.54
Havis 1/2" Console Filler Plate		1	9.00	9.00
Havis 1" Console Filler Plate		1	12.00	12.00
Havis 3 in. Console Filler Plate		1	10.30	10.30
Havis 4" Console Filler Plate		1	10.00	10.00
Havis 1-Piece Console Equipment Mounting Bracket, 4" Mounting Space, Fits Federal Signal Smart Siren SSP3000		1	0.00	0.00
Havis 2.5" Console Equipment Bracket for 1-Piece Motorola XTL-1500		1	0.00	0.00
Havis Console Equipment Bracket for Panasonic Arbitrator - ARB-WJ-VR30		1	0.00	0.00
Havis Faceplate 1-Piece Equipment Mounting Bracket, 3.5" Mounting Space, Fits Misc. Carson SC-409 # HV-C-EB35-SC4-1P - Customer wants to modify the 2 flashlight chargers to be mounted inside the console towards the rear. See customer supplied pics where they mock fitted the flashlight chargers inside. You can also frame the chargers in this bracket.		1	24.95	24.95
Streamlight SI-20L Nimh Flashlight - Mounted inside the console towards the rear. See Customer Supplied Pictures.		1	125.00	125.00
Streamlight Stinger DS LED - 12V DC Steady Charge - Mounted inside the console towards the rear. See Customer Supplied Pictures.		1	98.09	98.09
3 Additional 12Volt DC Heavy Duty Electrical Power Socket w/moisture cover - Mounted on Right Side of Console		3	6.00	18.00
Federal Signal 3" Round 6 LED Compartment / Dome Light that is Switchable between Red or White - Mounted over Console with On/Off switch		1	45.00	45.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimata	George Severe
<b>Estimate</b>	george@defendersupply.com
Бу	(903) 564-5641



	Bill To
Williamson Co TX SO Jail	
Commander Christopher Watts	
508 S. Rock Street	
Georgetown, TX 78626	
512-943-1407	

<b>Customer Contact</b>	Christopher T. Watts		
<b>Customer Phone</b>	512-943-1407		
Customer E-mail	cwatts@wilco.org		
Estimate #	28940		

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Make & Model of Customer Supplied Police Radio - Motorola APX7500/DB/Dash Mount O5 Control head - Customer to Install, Please Pre-Wire for One Piece Radios Does the Customer Supplied Police Radio need to be "Hot", Powered all the time or on Ignition - On Ignition Is Customer Supplied Police Radio a One or Two Piece Unit - One Piece What is the Frequency of Customer Supplied Police Radio - 800Mhz & VHF  WilCo will install the radios in all of our units in house. Defender only needs to install the antennas, radio speakers, battery lead wire, and ignition lead wire to the console. Pre-Wire to Console for Radio Power, Ground & Roof Antenna.				
Motorola 13-Watt Police Radio Speaker with Mounting Bracket - Mounted inside Console to the backside of the Console Speaker Grill on Driver's Side.		1	44.00	44.00
Two Way 800 MHZ Radio Antenna & Coax Cable - Roof Mount		1	40.00	40.00
Two Way VHF Radio Antenna & Coax Cable		1	30.00	30.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020
Estimata	George Severe
<b>Estimate</b>	george@defendersupply.com
Ву	(903) 564-5641



Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Georgetown, TX 78626
512-943-1407

<b>Customer Contact</b>	Christopher T. Watts
<b>Customer Phone</b>	512-943-1407
Customer E-mail	cwatts@wilco.org
Estimate #	28940

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Tahoe Roof Antenna Placement				
800 MhZ Antenna – Roof mounted between B-C pillars VHF Antenna Roof mounted between B-C pillars Bluetooth Antenna roof mounted on pass. side between A-B pillars Panasonic Arbitrator Antenna - Mounted between the A-B pillars. Multi Purpose GPS Cradlepoint Antenna - Mount between the C-D pillars.				
Note - Cradle Point Mounting Placement:				
On Units that have a prisoner partition, the Cradle Point will be Mounted on the Prisoner Partition right behind the Front Passenger Seat.				
On Units that do not have a prisoner partition, on the Cradle Point run cabling & roof antenna leads under the Front Passenger Seat leaving 3 to 4 feet of service lead in the wires please.				
CAT 6 Cables go in these locations: Blue Cable - CP to Dock White Cable- VPU (PC PORT) to Dock Red Cable - CP to VPU (LAN PORT)				
Federal Signal 3" Round 6 LED Compartment / Dome Light that is Switchable between Red or White - Mounted on Rear Liftgate with On/Off Switch		2	45.00	90.00
Defender Supply Chevrolet Tahoe Premium Single Drawer Storage BoxMeasures 20" H x 47" W x 30" D.		1	1,895.00	1,895.00
Window Tint - For Two Front Windows - 20.0% Tint Please		1	89.95	89.95
Wash and Prepare Vehicle for Delivery to Customer		1	100.00	100.00
Dealer Prep		1	130.00	130.00
Misc. Shop Supplies		1	30.00	30.00
Shipping of Above Emergency Parts for Upfit		1	140.00	140.00
Defender Supply Wiring Harness, Power Distribution & Battery Management System		1	559.20	559.20

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 2

Total Vehicle Order Cost \$99,954.00



845 West FM 407 Argyle, TX 76226

Date	9/25/2020			
Estimate By	George Severe			
	george@defendersupply.com			
	(903) 564-5641			



Bill To
Williamson Co TX SO Jail
Commander Christopher Watts
508 S. Rock Street
Georgetown, TX 78626
512-943-1407

<b>Customer Contact</b>	Christopher T. Watts
<b>Customer Phone</b>	512-943-1407
Customer E-mail	cwatts@wilco.org
Estimate #	28940

#### 2020 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Installation of Above Emergency Equipment and Customer Supplied:  1.) Panasonic Arbitrator 360 video system - Tech: Please see the Trigger Mapping Doc loaded in Quick Books. Trigger Position # 1  2.) CAT 6 Cables - Red Cable, Blue Cable & White Cable 3.) Power & Ground Cables for Police Radios  Tech Note: The Lighting Program was supplied to Defender Supply by Marc Courville @ Federal Signal & Approved by Williamson County - This program is the only Program that can be used & must be used by all techs on all units.  Tech: Please disable rear door handles & used Loc-tite on all Brush Guard Bolts  Customer will install their own radio, please run Power, Ground & Antenna Wiring to Console  For Customer Supplied Parts, Tech Support or Panasonic Camera Assistance contact:  Paul Best Public Safety Systems Administrator Williamson County ITS Office – (512) 943-1481 Fax – (512) 943-1474 Paul.Best@wilco.org  No Vehicle Paint or Graphics - Customer is doing their own Graphics.		48	99.89479	4,794.95
Delivery to Department		1	350.00	350.00
Deliver Vehicles to: Fleet Maintenance 3151 SE Inner Loop-Suite B 508 South Rock Street Georgetown, TX 78626 512-943-3368  Call 30 minutes before arrival.				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

<b>Vehicle and Emergency Equipment Total</b>	\$49,977.00
Quantity Ordered	

Total Vehicle Order	Cost	\$99,954.00

IGNATURE			